o(pp — H X)L, [ub]

Ratio to LHCB

=
00]
o

=
()]
o

|_\
N
o

=
N
(@)

100

80

60

40

20

0.5

Rivet 3.1.10, = 3.3M events

7000 GeV pp bb
- rrrrrr T e e e T
B N(b-jet) (with LEP fragmentation fractions) i
= LHCB ]
- --©-- Pythia 6.428 390 —
- 8- Pythia 6.428 391 ]
. —<%-- Pythia 6.428 392 —
— --+-- Pythia 6.428 396 -
| --%-- Pythia 6.428 397 ]
—  --¥-- Pythia 6.428 398 —
[ n i
:I__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.__'.ﬂ.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__.'__I:
| T Foommmmmmmmm e
i M -
;!-:::llIllll-l-ll:ll-l:ll:lm—!;
[ il ikttt bl
B----m e b — o m oo m o m o — - |

P T S T P T S SR P T S SR P T S SR I
2 3 4 5 6

n(H)

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


